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Example 1 ®



def grid is square(arglist):
length= len(arglist)
i=0
foriin range(length):
Xx=0
if arglist[i][x] == arglist[x][i]:
return True
elif arglist[i][x] != arglist[x][i]:
return False



o _ if BoolExpr:
def grid_is_square(arglist): « = True

length= len(arglist) else:
i= 0 x = False

foriin range(length):
x=0 X = BoolExpr

is equivalent to:

if arglist[i][x] ==4
return True

elif arglist[i][x] != arglist[x][i]:
return False



def grid_is_square(arglist):
length= len(arglist)
i=0
foriin range(length):
x=0

return arglist[i][x] == arglist[x][i]

Simplifying out the Boolean
expression makes the bug in
the code easier to see




def grid_is_square(arglist):

length= len(arglist)

i=0

foriin range(length):
x=0

return arglist[i][x] == arglist[x][i]

this initialization has no effect



def grid_is_square(arglist):
length= len(arglist)
i=0
foriin range(len
x=0

return arglist[i][x] == arglist[x][i]

we don't need this

o. .



def grid_is_square(arglist):
length= len(arglist)
foriin range(length):
return arglist[i][0] == arglist[0]][i]

returns on the first iteration



Example 2 ©



def concat_elements(list, startpos, stoppos):

result =""
if (startpos < 0):
startpos =0

if (stoppos > len(list)):
stoppos = len(list)

if (startpos > stoppos):
return "

a = list[startpos:stoppos+1]

result =".join(a)

return result



def concat_elements(list, startpos, stoppos):

result =""
if (startpos < 0): startpos = max(startpos, 0)
startpos =0

if (stoppos > len(list)): Slejplpes = mi”(TtOpIPCES'
en(lis

stoppos = len(list)

if (startpos > stoppos):
return "

a = list[startpos:stoppos+1]

result =".join(a)

return result



def concat_elements(list, startpos, stoppos):
result=""

startpos = max(startpos,0)
stoppos = min(stoppos, len(list)))

This is not really
if (startpos > stoppos): needed

return "'
a = list[startpos:stoppos+1]

result =".join(a)

return result

12



def concat_elements(list, startpos, stoppos):

new =
foriin range (max(0, startpos),

min( len(list), stoppos + 1)):
new += list [i]

return new



